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Al A

BA A - R (FA) - AR - AT of 412 33a ) 257

39,781,771 30,398,698 9,383,073
[=  14,812,979]
[+ 425,000]
o A 753 [7] 213,499]
(= 5,368,570]
[ 573,186]
[A] 18,388,5371

36,048,237 27,505,508 8,542,729
[ 14,721,788]
[7] 25,834]
obsH &, 7FE A B A EA] F - -
[3 573,186]
[A] 15,524,392]

252,602 245,358 7,244
oA A 3 [ 12,000]
[A] 240,602]

A AT Fx 143,102 167,218 N24,116

101 171H] 56,726 55,138 1,588
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0ol o] A A =7 (e <)
BA A - R (FA) - AR - AT of 412 33a R
10 7IRHA L = AHe Ba 56,726 55,138 1,588
O=AFF7F 2 6/l Emrt Sof 72 thAlg A d 32,4009 %15 #9094 %0.9 = 39,366
O4t B 7| aFes 47,466,00091+9.185% = 4,360
Ot 52 B FA=H Ad(=adae] =) 13,000
-4 200,000 %10 64 = 12,000
-HY 9 FofdH] 100,000 %109 = 1,000
201 Luk-FH] 16,570 14,400 2,170
01 AT H] 16,570 13,140 3,430
O1.dykg8-4] 5,000
—o1 g A G A duke 8| 5,000,000¢) = 5,000
03.+9+9 7,970
- AP BH AR 150,000 %2078 = 3,000
e ke R RS S e R 70,0009 %15% +33] = 3,150
XAl Ao kAl 31993 AT 70,0009 %139 23] = 1,820
O5. 3% 3,600
- AZAGT FX A 5,000 5 12Y %123] = 3,600
202 ) 9,600 8,970 630
01 =ujofn] 9,600 8,970 630




A1 0] 47 3
Aol ER g, 7HE A D oY BA Fg

0ol o] A A =7 (o] x <)
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O AAAG T 3 ofH] 60,0009 x4 *5U #83] = 9,600
206 A 24 1,500 1,500 0
01 Aj=H 1,500 1,500 0
OAATHMNE FFAug A =H] 15,0001 %1009 %13] = 1,500
301 Aubw A 15,706 9,210 6,496
09 FoIFoARST 3,106 2,610 496
O&aFed 3,106
-7l 80,0009 19 %12¥ = 960
-2 5,000 178 22 %129 = 1,320
RETIR St) 2,000 19 %22 %129 = 528
-3] 4] 268
o5 130,0009) *17g +23] = 260
w2} 5,0009%17 = 5
a 3,000%17 = 3
-9 s 15,0009 %17 %29 = 30
10 AW R 12,600 6,600 6,000
OAARAEAR(FAT) TduF td= o 60,0009 *30™ 2 *13] = 3,600
O#F R3] AYBAAL 74 5,000 509 #64] = 1,500
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0ol o] A A =7 (o] x <)
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094394 Aas FAA F4 5,000 %100 *13] = 500
O==2d9d "dERY" EYT A3 4 5,0004) %1009 #23] = 1,000
O3 AN F7 TAMY A4 10,0009 #3078 20 = 6,000
307 W1zkeld 13,000 43,000 30,000
05 WIF e 13,000 43,000 30,000
OARZA =R FAHFus 9g 8,000,000 %14 = 8,000
OofAol - & AJAY &4 2 o aS 5,000,000 #14] = 5,000
401 A A B ZF-thH| 20,000 0 20,000
04 AJAdH] 20,000 0 20,000
OogEg Ay rdsy 20,000,000 %12] = 20,000
405 AAEH 50 10,000 0 10,000
01 AL =FF 51 10,000 0 10,000
OdANHAGRAE 7] T+ 10,000,000 %14] = 10,000
FeHs T 12,560 21,700 29,140
201 WG] 8,360 11,360 3,000
01 ApFHn] 8,360 8,360 0
O2. ¢ EF a5 4] 8,360
-] HE T T Y AT 360,000¢) = 360
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BA A - R (FA) - AR - AT of 412 33a R
—o] g F - A Y Fus 8,000,000 #13] = 8,000
301 IHtE A 4,200 5,850 21,650
10 FARAH A= 4,200 5,850 A1,650
O GAA LA ARJAAH T W 2,400
RETR-RE) 120,000 10 x13] = 1,200
-oH] B 60,0009 *10™ *2Y #13] = 1,200
OFdEs ¢ AARLS A= 72 2,000% %3009 #33] = 1,800
oA A 56,940 56,440 500
201 IuF-4H] 8,760 8,710 50
01 AHF-¥2H| 6,350 6,350 0
O1. gk &) 5,000
- A 3] Y AL EAE AR A A 5,000 #1,000% = 5,000
06.9 2= 1,350
—old s 9w YA dAkE 450,00091#33] = 1,350
03 ARG H] 2,410 2,360 50
O F3t SPALH] 650
ity 40,0001 %107} = 400
-9 25,0004 +109) = 250
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OAZGA WL FAY 1,760
AR 280,000 2 %13 560
e URTA 3,500 %2 100w} 700
-G Wk A 500,000 500

206 A 5.9] 400 400 0

01 Az 400 400 0
O eA SArgs Amn (3, vkdl, JA 5) 1,000¢) %1007} #4.3] 400

301 LRkEAE 8,280 7,830 450

10 PALAH B A= 8,280 7,830 450
OARZGAULFAG 1] 60,0009 359 2 %13] 4,200
O=e] A4 3] FHAA; ofn 60,000 #2094 *13] 1,200
O A FAY A2 54 5,000¢) %1207 #42] 2,400
O GA AL FAY FA 2 7H4] 2,000 120 *23] 480

307 W1zkeld 39,500 39,500 0

02 WHFNEZ 12,500 12,500 0
OARQGA FAXLFAG F7EA} oH] 2,500,000 %59 12,500

04 TWIFPALR 2 27,000 27,000 0
O T3t 71 d A} 25,000,000 %12] 25,000
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O GA &5 K3 2,000,000 %14 = 2,000
40,000 0 40,000
AAuEsy A date] A LA [= 12,000]
[A] 28,000]
40,000 0 40,000
307 F1zkold (= 12,0001
[~] 28,0001
05 W E= 40,000 0 40,000
O REA &8 dAe] AT 40,000,0009) %14 = 40,000
(= 12,000]
[ 28,000]
32,218,254 25,351,264 6,866,990
[=  14,032,831]
obFH ALY A4 (= 4,885,333]
[aL 433,286]
[A] 12,866,804]
Hgoby A4 37,580 34,070 3,510
201 Iuk-d 2,600 0 2,600
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01 AFFE-#n 2,600 0 2,600
03.+9+2 1,400
—obERA Y] A 70,000 109 #23] = 1,400
O5. 9 %H| 1,200
—olEHAFF FX oL TR 54 5,0009052m %109 %129 = 1,200

202 o]H] 1,920 2,320 A400

01 =fedH] 1,920 2,320 2400
Oots ez Azts] Aoy 60,0009 *28 *4 U #43] = 1,920

301 LWkRAdH 7,060 6,750 310

01 Ab3] w4285 5,400 5,400 0
OotsHAAL (AANSH) Sl 20,0009 %90 #33] = 5,400

10 AW R 1,660 1,350 310
OobsEHAAA FALAL Al ofn) 60,0009 *58 x2U #23] = 1,200
Ools BRI A7 3] 3A A 2 5,0001%23% #43] = 460

307 F1zkold 26,000 25,000 1,000

02 WA HEZ 6,000 5,000 1,000
OXdASd Sy 6,000,000 %14 = 6,000

04 WIZFAALE % 20,000 20,000 0
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RRE ERE-SICE IR RE 33a 4
Oofold A A} 20,000,0009) %13 20,000
B A9 727,677 321,747 405,930
201 Luke-odn) 22,740 11,280 11,460
01 AHFF2H| 20,700 11,280 9,420
O1. gk &-4] 12,600
—E AR P AL Q) 20,000 #3004 6,000
“REAA FAA A FIE fA 1,400 1,000} 1,400
-HS IS % Az 40,0009 =307} 1,200
B Bl oobsAby ARkg-g] 4,000,000¢1 4,000
03. ¢4 5,700
-5 AL 9 AT 70,0009 #1274 53] 4,200
“ESAE FARRL RS AT 30,0009 #10A) 7++53] 1,500
O5. 9 %H| 2,400
-REAT FX oA w4 5,000 478 *104 129 2,400
03 AN 2,040 0 2,040
OAlfol-el g 7 sgAt 2,040
-t &= 50090 1,000% «27] & = 1,000
-ALE R e 40,0009 #37] A#23] 240
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-Qotny TH FHput 40,0009 107} 2:#23] = 800

202 o]H] 4,800 3,980 820

01 =ujodn] 4,800 3,980 820
OEFHF F3 uF3A o] 60,0009 *4 *4U 53] = 4,800

301 LRbRAdH 4,330 1,080 3,250

10 AW R AF 4,330 1,080 3,250
ORFAA FAAL 5] 60,0009 %13 x24] = 1,560
ORSFAA 319 XA 4] 5,0009) %277 %23] = 2,770

307 ®7to]x 695,807 305,407 390,400

02 WHFNEE 138,500 0 138,500
OXRFAA ¢ Az 500,000 #2777) 2= %13] = 138,500

04 WZYALR Z 8,000 5,000 3,000
OEFAA FAA Y 3] 8,000,000 %13] = 8,000

05 WIF e 549,307 300,407 248,900
Oojdoly] AEFA] 3,248 %4 ,528m' = 14,707
OAIHE A FHARRIF A8 (A (FFEojdol]) 700,000 19 %12¢ = 8,400
OAAREA D (A A - elH) 9] 170,000,000 x12] = 170,000
ORSFAHRAY JH| 9,000,000 #12¢¥ = 108,000
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OFFsoE AHEGAA v (15 ) 1,200,0009) *37H 4= 3,600
ORFAIA FAA} BHENS 6,000,000 #14] 6,000
ORFAIAHE7IIZF A4 250,000 307 2 7,500
OF A G (AR AHESAE (UL, FE)FAA A7)0 100,0009 «78 +12¢ 8,400
OAlH, BRJAEFAE WA L4 1,000,000 #257)] 2~ 25,000
Ogsoldoly #Hl 5 HlF T4 60,000,000 %12] 60,000
oA e R 1,000¢) 837 %300 #14] 7+ 24,900
OFExo ol (A H) FHl 5 HlF 100,000,000¢1 #12) 100,000
Ooldolq] 9]=o] ZALGS 20,0009 278 *2A] 7H+160Y 12,800

3,952,078 2,040,622 1,911,456
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3,952,078 2,040,622 1,911,456
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[= 142,625]
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H5Alo FAR SR (= 430,183]
[A] 1,003,766]
2,867,900 3,240,584 A372,684
[= 1,433,951]
307 Fzkel A
[= 430,183]
[A] 1,003,766]
05 W E= 2,867,900 3,240,584 N372,684
OW5Ao} F 3 EEE A Y 2,867,900,0009 %12] = 2,867,900
[= 1,433,951]
(= 430,183]
[A] 1,003,766]
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05 W E= 480,729 96,000 384,729
ORESAA BEwAL A7)0 A 480,729,0009) %12] = 480,729
(= 36,2191
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253,988 243,976 10,012
[= 126,994]
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(= 38,0991
[A] 88,8951
253,988 243,976 10,012
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[= 126,994]
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[= 89,8911
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[A] 62,9241
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307 Fzkel A - 25,0671
[A] 62,9241

05 W E= 179,782 511,064 331,282
ORSAIA A 179,782,000 %12) = 179,782
[= 89,8911
[= 26,9671
[A] 62,9241

4,164,792 4,648,088 A483,296
[= 2,082,396]
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[A] 1,457,676]

4,164,792 4,648,088 A483,296
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2,082,396
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307 Fzkel A
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05 WIZH9 EF 4,164,792 4,648,088 A483,296
ORGAIA FAA 174 A ¢ 4,164,792,0009 %12] = 4,164,792
[= 2,082,396]
(= 624,720]
[A] 1,457,676]
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BAAA kg u] [= 17,5201
[A] 40,8801
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[A] 40,880]

05 WIF e 58,400 40,400 18,000
ORSFAIA AFfAH] A2 58,400,0009 %12 = 58,400
(= 17,520]
[~ 40,8801

HEAE el 115,000 60,000 55,000
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ool EHFALY X9 (H9 19D
=] 2] N ol (3 =] I A B A} o AL =7}
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[= 57,500]
BEAE HrRels (= 17,247]
[A] 40,253]

115,000 60,000 55,000
[ 57,500]

307 Wztol A

[= 17,247]
[A] 40,253]

05 WIHAE= 115,000 60,000 55,000
ORFAIAE H7AF 115,000,000 %14] = 115,000
[= 57,500]
(= 17,247]
[A] 40,253]

13,030,852 9,594,110 3,436,742
‘ [= 6,515,426]

AL5T e HES
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13,030,852 9,594,110 3,436,742

307 WztolA
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o9l ol E N A A9
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- 71
(= 1,954,621]
307 Wzkol A
[A] 4,560,805]
05 N7+ 13,030,852 9,594,110 3,436,742
OALEZS B85 AY 13,030,852,0009 12 = 13,030,852
[= 6,515,426]
= 1,954,621]
[A] 4,560,805]
1,370,600 1,000,696 369,904
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Foflo} FARESE
(= 205,5901]
[A] 479,710]
1,370,600 1,000,696 369,904
[= 685,300]
307 F17ko]l A
(= 205,5901]
[A] 479,710]
05 W7+ 1,370,600 1,000,696 369,904
Oolo} 1,370,600,00099 %14 = 1,370,600
[= 685,300]
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[= 205,590]
[~] 479,710]

1,326,960 1,050,000 276,960
A5 HSoks 40| [= 263,088]
[A] 1,063,872]

1,326,960 1,050,000 276,960
307 F1zkold (= 263,088]
[A] 1,063,872]

05 WIFE= 1,326,960 1,050,000 276,960
OALE HSoks 1244 A 1,326,960,000¢)14] = 1,326,960
[= 263,088]
[A] 1,063,872]
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Aol & A BEE A (= 159,446
[A] 372,040]

531,486 530,907 579
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[A] 372,040]
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05 W E= 531,486 530,907 579
OAA el A BEa A 531,486,000 %14] = 531,486
(= 159,446]
[A] 372,040]

4,667 0 4,667
e 7P A S AlE A (= 1,400]
[~ 3,267]

4,667 0 4,667
307 W1zkol [= 1,400]
[A] 3,267]

05 W E= 4,667 0 4,667
OthEsh7Hg 2 S A A AFgkegu] A9 4,667,0009 %12 = 4,667
[= 1,400]
[A] 3,267]
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307 F1zkold 48,246 42,920 5,326
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(= 14,441]
307 Fzkel A

[A] 33,805]

05 WIZH9 EF 48,246 42,920 5,326
OALE HEols A7 A 48,246,000 %14 = 48,246
[= 14,441]
[A] 33,805]

6,720 0 6,720
H&olks el 27174714 [ 2,016]
[A] 4,704]

6,720 0 6,720
307 F1zkold (= 2,016]
[A] 4,704]

05 W E= 6,720 0 6,720
OB Fobs ol 271xd A\ A 6,720,000 %14 = 6,720
(= 2,016]
[~] 4,704]

40,800 0 40,800
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GFoljo} REAIA FAAL EdgT [A] 20,400]
40,800 0 40,800
307 F13kol A (= 20,400]
[A] 20,400]
05 WIF e 40,800 0 40,800
O%oflo} HEAIE FAA EH4TG A 40,800,000 %12] = 40,800
(= 20,400]
[A] 20,400]
2,700 2,520 180
Al Aot sHA A ) 3 (= 810]
[A] 1,890]
2,700 2,520 180
307 ®1gkolxd (= 810]
[A] 1,890]
04 WIZFPAE 2 2,700 2,520 180
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[A] 1,890]
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4,500 2,250 2,250
A ols wEH [= 1,350]
[A] 3,150]

4,500 2,250 2,250
307 W1zkeld [= 1,350]
[A] 3,150]

05 W9 E= 4,500 2,250 2,250
OAJAols asn] 2 150,000 %3078 = 4,500
[= 1,350]
[A] 3,150]

3,500 3,000 500
Al obE LS AR AL H] [ 1,050]
[A] 2,450]

3,500 3,000 500
307 F1zkold [= 1,050]
[A] 2,450]
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(= 1,050]
[~] 2,450]

3,000 1,800 1,200
A Aot 7] 5] [= 900]
[A] 2,100]

3,000 1,800 1,200
307 F1zkold (= 9001
[A] 2,100]

05 WIFE= 3,000 1,800 1,200
OAlAdols 75 sH] A4 300,000 %1078 = 3,000
[= 900]
[A] 2,100]

1,800 1,680 120
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[A] 1,260]

1,800 1,680 120
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[A] 1,260]
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[~ 3,402]

4,860 4,000 860
307 W1zkol [= 1,458]
[A] 3,402]
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[A] 3,024]
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[~ 3,024]
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[A] 1,8901
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[A] 1,890]
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[A] 1,890]
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O T4 200,000 #47) = 800
[= 4001
(= 200]
[~ 200]
oox 7+ 100,00094 %470 = 400
[= 200]
(= 100]
[~ 1001
Oxst7l 4 250,000 4] = 1,000
[= 500]
[ 250]
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34 0] 4 723

Aol ER g, 7HE A9 L oY BA Fg

T9: %A 9]

B A - (FA) - AR - A 33a ) 257

[A] 2501

31,500 0 31,500
[= 15,750]
EARSAE 75 R - -
[A] 7,875]

31,500 0 31,500
[= 15,750]
401 A A H 5o ) - -
[A] 7,875]

04 AN 31,500 0 31,500
ORBEAA A 7] 31,500,0009] %12 31,500
[= 15,750]
[= 7,875]
[~ 7,875]

3,000 3,000 0
RS AA A (= 9001
[A] 2,100]

307 F1zkold 3,000 3,000 0
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A1 0] 47 3
Aol ER g, 7HE A9 L oY BA Fg

tHo) 1 7} 4] 9 (9 d <)
BA A - R (FA) - AR - AT of 412 33a ) 257
(= 900]
307 F1zkel A

[A] 2,100]

05 RIZHSIE = 3,000 3,000 0
ONFRIAA A4 3,000,000 «171 4 = 3,000
[= 900]
[A] 2,100]

34,000 30,000 4,000
SRS A A [ 10,200]
[A] 23,800]

34,000 30,000 4,000
301 ARkEAF (= 10,200]
[~] 23,8001

01 AR3|RGA G385 34,000 30,000 4,000
ORFA7g A4 A 2,000,000 %17 = 34,000
(= 10,200]
[ 23,8001

60,000 60,000 0

S R7FS A gk ek

[= 10,170]
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A1 0] 47 3
Aol ER g, 7HE A9 L oY BA Fg

tHo) 1 7} 4] 9 (9 d <)
BA A - R (FA) - AR - AT of 412 33a ) 257
FHFRIFS A ek ek [A 49,8301
60,000 60,000 0
301 LRk AE (= 10,170]
[A] 49,830]
01 A3 R GA T3 = 60,000 60,000 0
ORBEA714 2 kel eta 29 2,000,000 %30 = 60,000
(= 10,170]
[A] 49 ,830]
90,000 90,600 AB00
RIS dEAdny [ 24,780]
[A] 65,2201
90,000 90,600 AB00
301 dRbEAE [= 24,7801
[A] 65,2201
01 A3 R A 4d+ 90,000 90,600 AB00
ORFAAY d5dsn Ad 200,000 %450 = 90,000
(= 24,7801
[A] 65,220]
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A1 0] 47 3
Aol ER g, 7HE A9 L oY BA Fg

tHo) 1 7} 4] 9 (9 d <)
BA A - R (FA) - AR - AT of 412 33a ) 257

55,500 53,001 2,499
SRS A 8hg-E [ 12,000]
[A] 43,5001

55,500 53,001 2,499
301 LRt AdH [= 12,0001
[A] 43,5001

01 ARS|RGA S8 55,500 53,001 2,499
ORBEA7V 255 A 831 A 150,000 %3709 = 55,500
(= 12,000]
[A] 43,500]

4,800 4,600 200
EARSAE GaA sHAl ] [ 1,440]
[A] 3,360]

4,800 4,600 200
301 Aukr A (= 1,440]
[A] 3,360]

10 FAAH BT 4,800 4,600 200
ORAR A daA shAFAN] A 200,000 =244t = 4,800
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59 0] 4 7} 3} »
Aol ER g, 7HE A9 L oY BA Fg

w9715 ¢ )
2R A - el (B) - ARAY - 1A Aol R

(= 1,440]
[~] 3,360]

6,720 6,720 0
RAREAA FAA S [+ 3.360]
[A] 3,360]

6,720 6,720 0
307 F1zkold [= 3,360]
[A] 3,360]

05 WIFE= 6,720 6,720 0
OXARBAIA FAA 3 A £ 746,660 %9 = 6,720
[= 3,360]
[A] 3,360]

140,740 104,808 35,932
[= 57,8701
rEEE e (= 28,935]
[A] 53,9351

140,740 104,808 35,932
0 el [= 57,8701
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3410 b & 3
bR, T1E A R olyBA Py
T9: %A 9]

SR G (EA) - ARALS -

2 A

|

oX,

A

r‘vl

o

A
Az

oH
ol

e
rerk
12 b

207 w1 710] 41 [= 28,935]
[A] 53,9351

05 RIZHSIE = 140,740 104,808 35,932
O7F8 %9 Aeta &4 140,740,000 %12 = 140,740
[= 57,870]
[= 28,935]
[~] 53,935]

57,870 56,184 1,686
NEE T L [= 28,935]
[= 14,4671
[A] 14,468]

57,870 56,184 1,686
207 w1 710] 4l [= 28,9351
(= 14,4671
[A] 14,468]

05 W E= 57,870 56,184 1,686
O FYdHA 94 57,870,000 x 171 A& = 57,870
[= 28,935]
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34 0] 4 723

Aol ER g, 7HE A9 L oY BA Fg

T9: %A 9]

SR GG (EA) - ARALG - B Aol 33a ) 3157}

(= 14,467]
[~] 14,468]

113,600 102,600 11,000
[ 56,8001

/g uj

(= 17,040]
[A] 39,7601

113,600 102,600 11,000
[= 56,8001

307

(= 17,040]
[A] 39,7601

113,600 102,600 11,000
O/ miul = & =} 113,600,000 17 & = 113,600
[= 56,8001
[= 17,040]
[A] 39,760]

62,240 57,035 5,205
HAZE wEat BEA [= 43,5681
[= 9,336]
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34 0] 4 723

Aol ER g, 7HE A9 L oY BA Fg

tHo) 1 7} 4] 9 (9 d <)
FA -3 - 33 A) - AFAY - HAE of 4k o8 AdL: H] 3l Z 7+
of| Akt
FREZE vEa BEAA & A [A] 9,336]
62,240 57,035 5,205
[= 43,5681
307 ®1zkolxd
[= 9,336]
[A] 9,336]
05 W E= 62,240 57,035 5,205
O714 %9 HaA naAld +9 Ad 62,240,000 1 7] & = 62,240
[= 43 ,568]
[= 9,336]
[A] 9,336]
6,000 6,000 0
[= 3,000]
7P &9 dleia o mH] A4
[= 1,500]
[A] 1,500]
6,000 6,000 0
[= 3,000]
307 F17ko]l A [% 1,500]
[A] 1,500]
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A1 0] 47 3
bR, T1E A R olyBA Py

R ke (9] 19)
= . ol (= =) 5 o Ad = =
B - A3 -G (FA) - HFAY - HAE o] Af ot J]AM, H] . = 7¢
- 71
05 WHAEH 6,000 6,000 0
O7F %2 g8zt ofzn =AY 6,000,000 %14 = 6,000
[= 3,000]
[= 1,500]
(A 1,500]
4,400 0 4,400
[ 2,200]
7H4 &Y ez HEAA 7]
= 1,100]
[A] 1,100]
4,400 0 4,400
[ 2,200]
301 9w
(%= 1,100]
[A] 1,100]
01 A3|H 4,400 0 4,400
O7MAZY 98z HeAA 7|58 4,400,000 %14 = 4,400
[ 2,2001]
(= 1,100]
[A] 1,100]
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A1 0] 47 3
Aol ER g, 7HE A9 L oY BA Fg

R ke (919
_ _ _ IR =g
BA A R (B - ARA] - WA E ol Ao} 39 HEES
- 71
2,800 0 2,800
[7] 1,960]
AAgd
(= 420]
[A] 420]
2,800 0 2,800
[7] 1,960]
307 Wztol A
[= 420]
(A 420]
05 WIHAEF 2,800 0 2,800
(O R 2,800,000 17 & = 2,800
[7] 1,960]
(= 420]
[A] 420]
23,160 0 23,160
[7] 16,212]
bl A wAA = TR 2
(= 3,474]
[A] 3,474]
307 WitolA 23,160 0 23,160
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34 0] 4 723

Aol ER g, 7HE A9 L oY BA Fg

T9: %A 9]

C R Gl (BA) - AFALS - B of 412 33a ) 257

[7] 16,212]
307 F1zkold [= 3,474]
[A] 3,474]

05 wWzkeler 23,160 23,160
O7}al = 11,580,000 #27] 2 = 23,160
(7] 16,212]
(= 3,474]
[ 3,474]

10,946 10,946
[7] 7,662]

a2} A 5s) g TR

(= 1,642]
[A] 1,642]

10,946 10,946
[7] 7,662]

307 F1zkel A

(= 1,642]
[ 1,642]

05 RIZH9IE 10,946 10,946
O &zt x| &3] 10,946,000 1 7] A& = 10,946
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A 0] 4 745 3}

Aol ER g, 7HE A9 L oY BA Fg

s il

C R Gl (BA) - AFALS - B e 33a R
[7] 7,662]
(= 1,642]
[A] 1,642]
3,097,854 2,372,127 725,727
[+ 425,000]
Aad e 4 S84 (7] 152,855]
(= 98,6831
[A] 2,421,316]
2,505,999 1,917,907 588,092
[+ 425,000]
dAdER A [7] 48,0001
[= 40,9501
[A] 1,992,049]
AA 164,928 92,918 72,010
20 11,488 13,338 A1,850
11,488 13,338 A1,850
8,188
A5 A ALY & 6,038,000¢ #14] 6,038




At A 7F=5 3
AArd BE 2 KA
o] ARz 2|9 (o] x <)
BA A - R (FA) - AR - AT of 412 33a ) 257
“Ards 4y TR 4,000 %300 = 1,200
-Hade &(54) 950
FEs A= 25,0009%30™ = 750
A=rEt A& 40,0009 #571 = 200
O3.+9+% 3,300
e EAR SRS U o Bk TIA S AT S 100,000 %3375 5 +13] = 3,300
202 oH] 4,320 2,430 1,890
01 =ulodH] 4,320 2,430 1,890
OA2d AAFAYT F319H] 60,0009 *3W *4UL x63] = 4,320
301 LRk AdH 3,720 3,150 570
10 AW R A 3,720 3,150 570
OFad AAATLs 7t of ] 60,0009 10 *3Y = 1,800
O ad EstAS AL F7bat of 1) 60,0009 85 #43] = 1,920
307 W1zkeld 145,400 59,000 86,400
02 WHFNEZ 20,000 0 20,000
OFdadaelagdds 1,000,000 #2078 = 20,000
04 WIZFAAFE Z 64,000 53,000 11,000
OA103] =32 Fad dAE 5503 5,000,000 %14] = 5,000
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At A 7F=5 3
AArd BE 2 KA
A adRA XY (9139
BA A - R (FA) - AR - AT of 412 33a ) 257
OAAZ Haxd &4 - 13 A FA&E A= 2,000¢)%3005-%23] = 1,200
301 ARkEAF 8,550 7,650 900
10 FARAH A= 7,950 7,650 300
OFHs ArdA=Ad &5 T34 5,000 109 #3375 H 5 #23] = 3,300
OALAAESNY A3 5 F7HA oH 60,0009 %257 23] = 3,000
OALIAA =AY g F7A F4 5,0009) 109 #3375 H & = 1,650
12 7|E}RAI 600 0 600
OHLd Faldd A 23+ 200,000 %39 = 600
307 W1zkol A 11,000 19,830 28,830
02 WA FR=E 3,000 3,000 0
023S HArdyagd 249 3,000,000 %124 = 3,000
05 RIZHSIEH 8,000 16,830 A8,830
Ot BAS Fiad AAuS 8,000,00091 %14 = 8,000
Aadrdad &9 75,921 89,713 A13,792
101 <149 16,981 10,211 6,770
10 712 2AS S 16,981 10,211 6,770
OTEFXEHF2IFHY NB 72 AH| 2 SFH AR a7 32,4009 %3 %204 = 1,944
OFFx3dadrdd A4 4 9 AE 54 32,4009 19 *150¢Y = 4,860
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A A )
A . oo (B A B A B Fon Ad =
* 051'1_‘&(:@]7‘—”)' -“T ]—(ﬁ.LO-Y = 0:]])1\1,@'.]
Ot Sz M 2 ARIAGH 1Y 1,500,000,0009 %14 = 1,500,000
93,000 90,000 3,000
[7] 46,500]
A7 3249 H
(= 13,950]
[A] 32,550]
93,000 90,000 3,000
[7] 46,500]
307 Wzkol A
= 13,950]
[A] 32,550]
05 W7 93,000 90,000 3,000
Ok a4 93,000,000 %12] = 93,000
[7] 46,500]
(= 13,950]
[A] 32,550]
62,000 40,000 22,000
2EFEy & [+ 31,000]
[A] 31,000]
307 WitolA 62,000 40,000 22,000
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BA A - R (FA) - AR - AT of 412 33a ) 257
[+ 31,000]
307 Fzkel A

[A] 31,000]

05 RIZHSIE = 62,000 40,000 22,000
O%FH2dF5 Y £909 (71 304, U3 171%) 62,000,000 %14] = 62,000
[+ 31,000]
[~ 31,000]

70,000 50,000 20,000
HarAdF Ry J(&H]) [= 21,000]
[A] 49,000]

70,000 50,000 20,000
307 F1zkold (= 21,000]
[~] 49,0001

05 W E= 70,000 50,000 20,000
Odrty Ad 5 Fnl(4E 10714) 70,000,0009) %14 = 70,000
(= 21,000]
[ 49,000]

493,000 0 493,000

A A AT AAIA TR

[+ 394,000]
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24 A4 (919
BA - AA B (EHA) - ARG - AR ol Ao 33a ) 3157}
dadsAnd RS [A] 99,0001
493,000 0 493,000
401 Al H) L F-ofH] [+ 394,000]
[A] 99,0001
02 AR AN 13,509 0 13,509
OTBxALdFAd AdisiAtd AAAAN] 493,000,000%%2.74/100 = 13,509
[+ 10,807]
[A] 2,702]
04 AJAdH] 468,891 0 468,891
OFFxFadsdd ddsAty 468,891,000 14 = 468,891
[ 375,113]
[A] 93,7781
05 ZFelH] 7,050 0 7,050
OFBxALITAA ddisAtbg e 493,000,000%#1.43/100 = 7,050
[+ 5,634]
[A] 1,416]
06 AR 3,550 0 3,550
OTBxALIFTAL dulsiit Al Ry 493,000,000%#0.72/100 = 3,550
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BA A - R (FA) - AR - AT e 33a R

10 A TZA S B 20,660 19,878 782
Oz 2 Az AR 32,4009 #49 #4 Y %4 3] 2,074
Oshdd Ha 2 A Av 2 32,4009 #2825 +6Y 9,720
O5Ad 9 Bz 59 32,4009 #15#220 7,128
O4t B g 7| aies 18,922,000 %9 . 185% 1,738

201 LuF-F ] 146,936 145,976 960

01 ApFn] 53,292 47,132 6,160
O1. 4Rk &1 15,632
“AadTEd £ duegy] 6,832,000¢ 6,832
-AstzAd B SR 400,000 ¥12€ 4,800
-2 A7 AR SR 1,000,000 #23] 2,000
R WS A f Q1 (Sl 2,000¢) %1, 000+ 2,000
O2. Y era sy 560
A7t B i T 140,000 #4.3] 560
03.+9+2 31,960
-d3 40,0001+ 19 115 4,600
-dad 9 SR ws FASg 30,0009 #2A] 74125 %4 3] #53} L 14,400
-StuAE AT 5 o7 30,0009 #475 #3A] TFx45-+9 3] 12,960
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By QA - 9l (HA) - ARAS - AAE ey R
O4. 3] &) 340
A8 340
= 130,000 %278 %13 260
k= 5} 35,000 275 *13] 70
=} 5,000 %27 x13] 10
O5. 3 %H| 3,000
-Aadsdd 9 54 5,0009 57 x10d *12Y = 3,000
06. U925 1,800
-y I Ak At 450,0009) #2thx24 = 1,800
02 FF&GH 90,114 96,314 26,200
O1. T FTLTFLAA 73,478
“Fadrdd oA dmy 4,000,000 %13] = 4,000
-A718 s 3,000,0009 %129 = 36,000
~EAbAS 1,500,000 12€ = 18,000
-AAdsEn 9 Ve 3vaw 15,478,000 = 15,478
0O2.dd3H] 2,79
-AAdFEd A 2,794,000 = 2,794
O3 A A 1] FA] 1] 13,842
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At A 7F=5 3
WA sd BE 2 KA
A AHAATHAN (919
BA A - R (FA) - AR - AT of 412 33a ) 257
-Aad5dd AE AN 2,0869%3,980m" 0.8 6,642
=71A - A7) A= FA 3,000,000 %14 3,000
A eEd, o] T 71 Al A ] 4,200,000 %12 4,200
03 AL AH] 3,530 2,530 1,000
OAadEsPA (A, 7teA, AF4 5) 2,530
-§ 4t 70,0009 %271 23] 280
-HEE 5009 #5005-#33] 750
“AdEN 2 234 g0l 10,0009 #5011} +33] 1,500
OHAxd7teA]l ) A= 1,000,0009) %14 1,000
202 oy 1,800 2,430 630
01 =ujodn] 1,800 2,430 AB30
OAFaxdrdst Addd wH37E o] 60,000¢) 27 *3 53] 1,800
206 A 5.4 9,000 9,000 0
01 AlEH] 9,000 9,000 0
OAx-dTEd 9 AR(aSAR 2 FAdEHA & 9,000,000 9,000
301 IHtE A 28,270 25,126 3,144
09 FEFQYARAF 15,530 13,046 2,484
OFJ+Fad 15,530
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Ho 9 &4
A% 9 (919
FA -3 - 33 A) - AFAY - HAE of 4k o8 AdL: v w57+
of| Akt
-7 &5 80,000 x5 %129 = 4,800
-2 1] 5,000 5 %228 %129 = 6,600
~ulEH]| 2,000 #5822 %129 = 2,640
-3 5 H] 1,340
SR 130,000 #5718 #23] = 1,300
° B} 5,000 5 #13] = 25
c o) 3,000 %59 %13] = 15
“E9] FEE 15,0009 *57 x2<) = 150
10 PALAH B A= 12,740 12,080 660
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[= 1,208]
[A] 3,487]
~AIZFS TR 7,335 %278 154 7++129 = 2,641
[= 630]
[A] 1,961]
“ArIEEFT 50,0009 x 19 %12¢ = 600
[= 154]
[A] 446]
48,979 40,963 8,016
3.0 (4 29 F A ) o #4490]
[= 7,345]
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A 1ol 2d 715 3t
PGP A u (A 75T
AR R o al R B P e D) (el x9D)
BA A - R (FA) - AR - AT of 412 33a ) 257
RN RICESTES R RI=D [/ 17,144]
48,979 40,963 8,016
[7] 24,4901
101 1714]
[= 7,345]
[A] 17,144]
03 AAF2H 2,400 0 2,400
OHLISTTALAE 100,000 %2 %129 = 2,400
[7] 1,200]
(= 360]
[A] 8401
04 TR ZH 3,600 2,400 1,200
OFAdTHALAY Fedd 150,000 %28 %129 = 3,600
[7] 1,800]
(= 540]
[A] 1,260]
05 WAF7H 2,148 2,059 89
OALAFFALAE Fed 25,767,00099%1/12 = 2,148
[7] 1,074]
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OFxdTdA gAY dd

25,767,0009%2.5/12 =

1,073,600 #2712 =

25,767,00099%2/12

6,710 27 #15A] 7++12Y

i

[~

(7]

(A

(7]

(Al

(7]

(A

322]
752]
5,369
5,369
2,685]
804]
1,880]
35,462
35,462
25,767
12,884]
3,866]
9,017]
4,295
2,147]
644]
1,504]

2,416

5,148

31,356

221

4,106
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32,478,0009%9.185% =

(7]

[

(7]

(A

1,208]
3621
846]

2,984

1,492]

4471

1,045]

41,280
10,320]
5,1601]

25,800]

36,000

5,280

101 2174 n]

41,280
10,320]
5,1601]

25,800]

36,000

5,280
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1,720,000 x2 x12¢ =

(7]

41,280
41,280

10,320]

36,000

5,280
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Aol A 7} )
A 8 A g 7 ] (o] 4 7} )
o912 & o] (o] 4 71 59} (r91:3191)

BA A - R (FA) - AR - AT of 412 33a ) 257
(= 5,160]
[ 25,8001
71273 H] (23 71531 62,670 41,600 21,070
A g 12,990 8,700 4,290
201 LuF-dH] 12,990 8,700 4,290
01 AFFE-#a]n) 12,510 8,220 4,290
Ol. guk8] 7,910
A Guk g 4,110,0009 = 4,110
AR AR EA] 3,800,0009 = 3,800
O5. 3 %H| 4,600
- =5 4,600,0009 = 4,600
02 FFeYgH 480 480 0
O1.FZ2FLAA 480
-FAEE TELE 480,0009) = 480
G2l of ] 49,680 32,400 17,280
202 oH] 49,680 32,400 17,280
01 =ujodn] 49,680 32,400 17,280
OF 8 dFFxlolH| 20,0009 %23 +9U #1294 = 49,680
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